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QUESTION 1

ON a stateful inspection Firewall where there is no session table, when the status detection mechanism is enabled and
the second packet (CYN+ACK) of 3-way hadshakes reaches the firewall. Which of the following statements is true?

A. If the firewall security policy permits packets to pass, the session table is created.
B. By default, when status detection is disabled and the permit policy is configured packets can pass.
C. Packets must pass the firewall, and a session table is established.

D. If the firewall security policy permits packets to pass, the packets can pass the firewall.

Correct Answer: A

QUESTION 2

A local router runs 1S-IS and its command output is shown in the following figure. Which of the following statements is
true?

<R1>display isis interface verbose
Interface information for ISIS(1)
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Interface id IPV4.State IPV6.State Type DIS
S4/0/0 001 Up Down L1 -
Circuit MT State : Standard
\P Address dfit 1 0 1 iy 2ty
Csnp Timer Value il il ettt 10
Hello Timer Value z 10
DIS Hello Timer Value s I
iplier Value ;
l-(-:lgg:o o sl 1O L2 NN
Ipv6 Cost i 10 B2
Retransmit Timer Value =22 5

Extended-Circuit-1d Value : 0000000001
A. The circuit level of S4/0/0 is Level-1.
B. S4/0/0 supports IPv6.
C. S4/0/0 sends IIH packets at the interval of 30s.
D. The cost of S4/0/0 is 20.

Correct Answer: C
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QUESTION 3
Which of the following statements regarding the summary automatic command and BGP route summarization is false?
A. After this command is configured, BGP sends only the summarized routes to peers

B. This command is used to implement automatic summarization. Automatic summarization takes precedence over
manual summarization

C. This command enables automatic summarization for the locally imported routes
D. After this command is configured, BGP summarizes routes based on natural network segments

Correct Answer: D

QUESTION 4

Which of the following TLVs is used by ISIS to describe the IP address of an interface?
A. 129

B. 131

C. 128

D. 132

Correct Answer: D

QUESTION 5

According to BGP route selection rules, the route with the higher Local_Pref is preferred.
A. TRUE

B. FALSE

Correct Answer: A

Latest H12-821 Dumps H12-821 Exam Questions H12-821 Braindumps

Latest H12-821 Dumps | H12-821 Exam Questions | H12-821 Braindumps 3/3


https://www.geekcert.com/h12-821.html
https://www.geekcert.com/h12-821.html
https://www.geekcert.com/h12-821.html
http://www.tcpdf.org
https://www.geekcert.com/h12-821.html
https://www.geekcert.com/h12-821.html
https://www.geekcert.com/h12-821.html

